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Smoking Quiz Questions - Ages 9-10 - Piece 1

Circle the answer you think js correct.

How many people in the worid are estimated to die from smoking-related ilinesses each year?

A. 500,000

B. 1 milfion

€. 3 million

D. 5 million

| How many people in the world are estimated to die each year from breathmg in second-hand
smoke (passive smoking)?

B. 90,000

C. 900,000

D. 9 milfion

True or false: Low tar cigarettes don’t cause that much health damage

A. True

B. False ‘

What makes smoking addictive?

A. Taste

B. Nicotine

C. Tar

D. Wanting to look cool

Which of these chemicals dogs the average ashtray contain?

A. Arsenic

A. Vaping contains
fewer chemicals than
tobacco

the body damage

B. Nicotine C. Ammonia D. All of these
Which group smokes more: boys or giris? )
A. Girls B. Boys
Which of these facts about E-cigarettes/ vaping are true?
B. Vaping can still cause C. Vaping is still addictive | D, Alf of these

for years

True or false: Smoking only damages your

health if you have been smoking

A, True

B. False

Is the number of people who smoke, rising, fafling or staying roughly the same each year?

A, Rising

B. Staying the same

C. Falling

If we all know
to smoke?

the dangers of cigarette smoking, why do young people start

A. Because their parents
smoke

B. Because they think
it wifl help them stay
slim

smoke -

C. Because their friends

D. Because they think
they might try it and
can easily give up

when they want to
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Hezaithy Me
Smoking Quiz Answers -~ Ages 9-10 - Piece 1

How many pecople in the world are estimated to die from smoking-related illnesses each year?

3. 5 million The World Health
Organisation estimals thai 5

I million smakers die each year
A. 500,000 B. 1 million C. 3 million as a result of smoking-relatad
ilnesses. Thatis equivalent

io one person dying every B
seconds

How many peopie in the world are estimated to die each year from breathing in second-hand
smoke (passive smoking)?

C. 900,000 The World Healin
Organisation asiimate that

A 9,000 B. 90,000 300,000 psople each yaar D. 9 million

deveiop fatal illnesses because
of second-hand smoks

True or false: Low tar cigarettes don't cause that much health damage

B, False. They have less tar, but they can st cause haalth
A. True g T ; ey : -
amage, espacially I people smoke a lot over a long period of timsa.

What makes smoking addictive?

B. Nicotine. This is 3 powariul

stimuiant addictive drug.
Smoking immadiately affects

A. Taste the hear by speeding up the C. Tar

hear rate and increasing blood

pressure,

D. Wanting to iook cool

Which of these chemicals does the average ashtray contain?

. Al of thess. Tobacco
A. Arsenic B. Nicotine C. Ammonia caonltains aver 4000 chamicals
{ many of which are harmiful.

Which group smokes more: boys or girls?

&, Gl ltused to be bays, but now more gitls smoke; why do
yol think this is7?

B. Boys

Which of these facts about E-cigarettes/ vaping are true?

03, Al of thesa Health
professionals and sciantists

ara still investigating whathar
vaping causes long-term

C. Vaping is still addictive | health problems. There is

some evidance thal vaping can
tead paopie towards taking up
smoking cigarettes and some to
try illegal drugs.

A, Vaping contains
fewer chemicals than
tobacco

B. Vaping can still cause
the body damage

| True or false: Smoking only damages your health if you have been smoking
for years

| A True B. Faisz Shortness of hreath, mare coughs and colds, eic. ocours
' - in young smokers who havs not been smaking for very long

Is the number of people who smoke, rising, falling or staying roughly the same each year?

L. Falling Smeking is less popular in the aduit population than
it usad to be. This is becausa people know abaut the health risks.
the rising costs, and laws in some countrizs that make smaoking
anii-social and banned from being adverlised,

A. Rising B. Staying the same

If we all know the dangers of cigarette smoking, why do young peopie start to smoke?

D. Because they think
A. Because their parents B, Because they think it C. Because their friends they might try it and can

smoke will help them stay slim smoke - easily give up when they
want to .

There is obviously no correcl answer for this. Pupils could sithar rank these or add some of their own answers or choose the answar
that they think is most ‘corrent’.
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